
Homework #02
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(1) Find CTFT           . 

(2) Plot           and            using Matlab.
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Please find [ ]X k .
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Please use the following form to represent        . ( )x t

(c) Please use the result of (b) to find          , the CTFT of . 
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Please find [ ]X k .
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Problem 5
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(1) Find DTFT             . 

(2) Plot           and            using Matlab.
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Please derive how to obtain the following two transforms 
and inverse transforms.
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(c) Please use the result of (b) to find          ,  the CTFT of         . 
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